STA 4321
Spring 2019
Quiz 6

Full Name:

On my honor, I have neither given nor received unauthorized aid on this quiz

Signature:

This is a 10 minute quiz. There are 5 multiple choice problems, each having EXACTLY ONE
correct answer. You may not use any books, other references, or text-capable electronic devices.

1. If X and Y are discrete random variables, then

@/\%(X = CIJ) = ZyeRange(Y) P( =z, Y = y) S Q I\ ‘ Z{
(b) PX =2)= ZyERtmge(X) P(X =z,Y =vy). -8 ecidnie . na'les
( ) (X = 33) = EyeRange(Y) P(Y y)
(d) (X = :E) = EyeRange(X P(X "E)
2. If X and Y are jointly continuous random variables, then
{E) Fxiy=y(z) = fx ().
(@) Fxiy—y(@) = B8, See Leclivee e
(©) Fxjy=y(z) = fr(¥).
(d) fxpy=y(z) = fxy(z,y)
3. If X and Y are jointly continuous and independent random variables, then
(@) frxx(e,w) = fx(@) -
( ) Y(ﬂ),y) = fY( ) i@.&, C/i‘ (WtQU% ‘/\ﬂ:{fﬂ;
@) fxy(z,y) = fx (@) fr (y).

)
(d) fx(z) = fr(y)-

4. Let X and Y be jointly continuous random variables with joint density

v (@,y) = 1 ifo<z,y<1

XYADY = 0 otherwise.

Then P(1 < X <2,1 <Y <2)is given by

(a) 1. | L ,

(b) 0.5. Pllcxce 1exey) = 5 C

(c) 0.6. / B féx \(,b/.g) dy cif

@



5. If X and Y are jointly continuous random variables with joint density fxy, then
P((X,Y) € 4) = / /A Fxy (@ y)dedy.

This statement is

x . 1 .
@})True' S.AQL ) Lo AL ﬂ,bu& G b <’*’«./{;§a
(b) False.



